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All Candidates' performance across questions

WIJEC 2018 Online Exam Review

Question Title N Mean SD Max Mark FF Attempt %
la 4275 0.8 0.4 1 79.5 96.1
1c 3857 0.3 0.5 1 30.2 86.7
2b 4409 0.9 0.3 1 87.1 99.1
4ai 4140 0.4 0.5 1 38.4 93
4b 3639 0.4 0.5 1 40.3 81.8
5bi 3911 0.5 0.5 1 46.4 87.9
5c 3874 0.8 0.9 2 38.3 87.1
7a 3541 0.7 0.5 1 65.3 79.6
7c 3870 0.7 0.5 1 73 87
9 3522 0.7 0.7 2 32.6 79.2
10b 3890 1.4 0.8 2 71.2 87.4
11a 4250 0.2 0.4 1 18.3 95.5
11lc 4259 0.1 0.2 1 6 95.7
12b 3225 0.6 0.9 2 32.1 72.5
13a 3510 0.2 0.4 1 18.9 78.9
13c 3669 0.2 0.6 2 10.1 82.5
15i 2321 0.1 0.3 1 10.3 52.2
16 3128 1.2 0.8 3 39.8 70.3
18a 3951 0 0.3 2 2.4 88.8
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3 Calculate £ of the INPUT number.

4 Caiculat’es_ﬂ% of the INPUT number.

5 Add the answers to step 2, step 3 and step 4.
6 Print the answer to step 5.

The INPUT number is 15.
The computer prints the answer 62-5.

What is the value of the percentage missing from step 47
You must show all your working. [4 + 2 0OCW]
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The INPUT number is 15.
The computer prints the answer 62-5.

What is the value of the percent: ssing from step 4?
You must show all your working. [4 +2 OCW]
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6. (Step2: 3x15=) 45 B1
(Step 3: %4 x15=) 10 Bl
(625-45-10=)75 B1 FT 'their 45' and ‘'their 10'
(Percentage = 7.5 x 100(%) =) 50(%) B1 FT ‘their 7.5’ x 100
15 15
ocw
Organisation and communication OC1 | For OC1, candidates will be expected to:
* present their response in a structured way
* explain to the reader what they are doing at each
step of their response
* lay out their explanations and working in a way
that is clear and logical
+ write a conclusion that draws together their
results and explains what their answer means.
Accuracy of writing
w1 For W1, candidates will be expected to:

« show all their working

» make few, if any, errors in spelling, punctuation
and grammar

+ use correct mathematical form in their working
* use appropriate terminology, units, etc.











3 Calculate £ of the INPUT number.

4 Caiculat’es_ﬂ% of the INPUT number. a
5 Add the answers to step 2, step 3 and step 4.

6 Print the answer to step 5.

The INPUT number is 15.
The computer prints the answer 62-5. @

What is the value of the percentage missing from step 47
You must show all your working. [4 + 2 0OCW]




Sticky Note

This answer showed the correct numerical answers to this question and was awarded the first four marks. However, there was no explanation  of what the sums referred to, so the mark for the OC strand could not be awarded. The statement 15 = 10 is not mathematically correct so the W mark was not awarded. Correct mathematical form had to be used in the answer's working. Altogether, this answer gained 4 of the possible 6 marks. 
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The INPUT number is 15.
The computer prints the answer 62-5.

What is the value of the percent: issing from step 4?
You must show all your working. = [4 +2 OCW]
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Sticky Note

This answer gained the first B mark for working out 15 x 3 = 45. However, the candidate then worked out 2/3 of 45 instead of 2/3 of the INPUT number,15. This was a very, very common mistake. 
The candidate then did not work with 62.5 at all. Candidates needed to engage with the first three stages of working out the answer before either of the OCW marks could be awarded. So despite a good attempt to show the different stages of the answer, only 1 mark could be awarded out of 6.
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Sticky Note

This candidate was awarded 4 marks for the correct numerical answers. The different steps of the answer are not identified so OC0. Using Step 1, Step 2, ... would have been sufficient. However, all the mathematical form is correct so the W mark can be awarded.
So this answer is given 5 marks out of 6.










6. In this question, you will be assessed on the quality of your organisation, communication and
accuracy in writing.

A computer program has 6 steps.
In step 4, the value of the percentage is missing.

Step Instruction
1 INPUT a number.
2 Multiply the INPUT number by 3.
3 Calculate £ of the INPUT number.
4 Calculate ........ % of the INPUT number.
5 Add the answers to step 2, step 3 and step 4.
6 Print the answer to step 5.

The INPUT number is 15.
The computer prints the answer 62-5.

What is the value of the percentage missing from step 47
You must show all your working. [4 +2 OCW]
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9.  On the diagram, mark the point P with a cross sa that

. BAP=TZ,
+ AP=6&8cm,
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On the diagram, mark the point @ with a cross so thal
- BREP=T27,

= AP=638cm.

[
ro
! !
r
.F}J
. . s o
*_-——-ﬁ‘ﬂtfﬁ
~
;r,‘h-- "'-'.
! ™
f‘ \\\
' ~
[ N
¥ b
I w N
i ! N N
_(J' LY
Iy A"
,1 L1
1! A"
[ AT
!y v
Ty v
.",r L
Iy VA
V1
[
= [
A = — —
“ I
y y i
. i
- '
W ! !
W [
A\ i
\ Y
\ Y
A ;S
(R s, S
VA ’,











9. On the diagram, mark the poirl P wit™ a cross so that
- BAP=T2"

= AP=6Bcm.











9. (BAP =)72°
(AP =) 6-8 (cm)
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9.  On the diagram, mark the point P with a cross sa that
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Sticky Note

Very many candidates ignored the size of angle BAP and wrongly marked P along the line AB. This gained 1 mark.
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|9.  On the diagram, mark the point £ with a cross so thal
| - BREP=T27,

| = AP=638cm.
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Sticky Note

Many candidates wrongly drew a line at B instead of A. This gained 0 marks. This candidate also marked another point on AB. This was in the wrong place but even if it had been within the acceptable range of answers, there would have been a choice of answers so would have been awarded 0 marks.










9. On the diagram, mark the poirl P wit™ a cross so that
- BAP=T2"

= AP=6Bcm.




Sticky Note

This answer was awarded 1 mark as the length of AP is correct but the angle BAP is wrong. Many candidates joined P to B which wasn't necessary.
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9. On the diagram, mark the point P with a cross so that
/\
e BAP=72°

e AP=6-8cm.

[2]
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‘More than half the balls in the bag are blue.
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‘More than half the balls in the bag are blue.’
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‘More than half the balls in the bag are blue.
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13.(a) Statement indicating that 0-3 is less than 0-5. El BO for e.g. 'Fewer than half the balls are blue'.

OR Statement indicating that probability of selecting ‘Should be higher’, ‘Would be above 0-3'.
a blue ball should be greater than 0-5.

OR Statement that refers to a proportion of the balls Allow correct interpretation of 0-3 e.g.
e.g. ‘(Only) 30% (of the balls) are blue’, ‘(Only) 30 out of 100 are blue’,

‘(Only) 3/10(ths) (of the balls) are blue’. ‘(Only) 15 out of 50 are blue’.
Accept any indication for 0-5, e.g. ‘half’, /2’
13.(b) 0-7 or equivalent. B1 BO for incorrect notation; e.g. 7 out of 10.
13.(c) 0-3 x50 M1
15 Al If no marks gained, allow SC1 for sight of 15; e.qg.

15/50, 15:35.











‘More than half the balls in the bag are blue.
50,70

...l




Sticky Note

This candidate needed to compare the size of 50% with 30%.










‘More than half the balls in the bag are blue.’
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Sticky Note

This answer is wrong because the total number of balls in the bag is not given as 10.










‘More than hal_f the balls in the bag are blue.
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Sticky Note

There is no comparison between 0.3 and 0.5 which was needed to be awarded the mark for this question. 










13. A bag contains a number of different coloured balls.
A ball is selected at random from the bag.
The probability of selecting a blue ball is 0-3.

(@ Why is the following statement incorrect?
Explain your answer clearly. 1]

‘More than half the balls in the bag are blue!

(¢) There are 50 balls in the bag.
How many of them are blue? [2]











A B

Diagram not drawn to scale -

Calculate the length of DE.
You must show all your working. [4]
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A B @

Diagram not drawn to scale -

Calculate the length of DE.
You must show all your working. [4]

___________ Koy O T IO e O A L



Sticky Note

Despite the words under the diagram, saying that it is not drawn to scale, several candidates tried to find the length of DE just by measuring it using their ruler.
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A

B

Diagram not drawn fo scale

Calculate the length of DE.
You must show all your working.

[4]
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2%

B

Diagram not drawn fo scale

Calculate the length of DE.
You must show all your working.

[4]




Sticky Note

This candidate gained the first two marks by working out the length of each side of the square correctly, but then got muddled with how to use the formula for the area of a triangle. They were unable to set up the equation 1/2 x 7 x DE = 35.
So only the first two marks were gained.










A B

Diagram not drawn to scale

Calculate the length of DE.
You must show all your working. [4]
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A B

Diagram not drawn to scale
Calculate the length of DE.
You must show all your working. [4]
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Sticky Note

Here, the candidate again worked out the length of the square correctly but then engaged randomly with angles, lengths and areas all mixed in the same sums. This was a common error. 










17.
(EC = Side of the square =) 28
4
=7(cm)

(Area of triangle CDE =) 7 xDE = 35(cm2)
2

(DE =) 10(cm)

M1

Al

M1

Al

Lengths may be seen on the diagram.

Any side of square shown as 7(cm) is M1ALl.

FT ‘their stated or shown length for EC’.
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17. In the diagram below, ABCE is a square whose perimeter is 28 cm.
CDE is a right-angled triangle whose area is 35cm?2.

D

A B

Diagram not drawn to scale

Calculate the length of DE.
You must show all your working. [4]
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